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L IMacmopr KOMIJIEKTAa KOHTPOJIbHO-OLEHOYHbIX CPEACTB

B pesymbrare ocBoeHuss yueOHOW ~AMCHUIUIMHBI  VHOCTpaHHBIA  SI3BIK
oOydJaroruiicss moypkeH oomanate npeaxycmorpeHabivu @I'OC no cnenuanbHOCTH
CIIO 23.02.03 TexHuueckoe OOCIYy)KMBAHHME U PEMOHT aBTOMOOMIBHOTO
TpaHCTIOpTa OOIUMHU U TTPO(PECCHOHATTLHBIMU KOMIIETEHITUSIMH

OK 1. IloHumaTth CyHIHOCTb W COLMAJIIBHYIO 3HAYUMOCTh CBOe€H Oymyuiei
npodeccuu, MPOsIBIIATh K HEW YCTOWYUBBIA UHTEPEC.

OK 2. OpranuzoBsiBaTh COOCTBEHHYIO JACSATEIBbHOCTb, OMNPEACISITh METOAbl U
CrocoObl BBIMOJIHEHUS PO(EeCCHOHATBHBIX 3a/1a4, OLlEHUBaTh UX 3((PEKTUBHOCTH
Y Ka4eCTBO.

OK 3. Pemiatb  mpoOsieMbl, OLIEHMBATh PUCKAU U  TNPUHUMATH  PEUICHUS
B HECTAHJAPTHBIX CUTYyaLUsX.

OK 4. OcyiecTBasITh MOUCK, aHAINU3 U OLEHKY MHGOpMaluu, HEOOXOIUMOM AJis
MOCTAHOBKA M pElIeHUs Npo(deCcCHOHATBHBIX 3a/4ad, MNPO(PEecCHOHAIBHOTO U
JUYHOCTHOTO PA3BUTHUA.

OK 5. Hcnonb3oBaTh HH(OPMALMOHHO-KOMMYHHUKAIIIOHHBIE TEXHOJOTHH IS
COBEPIICHCTBOBAHUSA MPO(PECCHOHATBHOM NEATETbHOCTH.

OK 6. Paborath B KOJUIGKTUBE M KOMaHAC, OOECIeUYMBATh €€ CIIOUCHHE,
¢ PekTUBHO 00IIATHCS C KOJUIETaMH, PYKOBOJICTBOM, MOTPEOUTEIISIMH.

OK 7. CtaButs LETH, MOTUBHPOBATh JEATEIbHOCTD MOAYMHEHHBIX,
OpraHU30BbIBATh W KOHTPOJIUPOBATH HUX paboOTy ¢ TMpUHATHEM Ha cels
OTBETCTBEHHOCTH 3a PE3YyJIbTAT BBIMOJHEHUS 3aIaHUI.

OK 8. CaMoCTOSITENIbHO ONpeAessATh 3aauu NpodhecCUOHATBHOTO U JJUYHOCTHOTO
pPa3BUTHS, 3aHUMAThCSI CaMOOOpa30BaHUEM, OCO3HAHHO TUIAHUPOBATH MOBBIIICHHUE
KBaJIM(DUKALIUH.

OK 9. BbITh TOTOBBIM K CMEHE TEXHOJIOTUH B MPOGECCHOHATIBHON ACSITENEHOCTH.

Y4eOHBIM IUTAHOM KOJUIEKa MPEIyCMOTPEHa MPOMEXYTOUYHAsl aTTeCTalus IIOo
yuebHol muctuminHe MHocTpaHHbIN s3pIK B dopme nuddepeHupoBaHHbIM
3a4er.

I1. PesyabTaThl 0OCBOCHHMS Y4eOHOM AU CHUILIHHBI

B pesynpTaTe arTecTanuy OCYIIECTBISETCS KOMIUIEKCHAs MPOBEPKa CIEAYIOLIUX
YMEHHM M 3HAHWM, KoTopble  (OpMHUPYIOT 00mue u mnpodeccruoHaNbHbIE
KOMIETEHIINH:

3HAHUS:

1. Jlekcuueckuit (1200 — 1400 nexcHyecKHX €IMHHI) M I'PAMMaTHYECKUN
MUHUMYM, HEOOXOIUMBIN JAJIsi UTEHUS M TMepeBoja (CO CIoBapeM) MHOCTPAaHHBIX
TEKCTOB NPO(ECCUOHATIBLHON HAIIPABIEHHOCTH

YMEHMSsI:

1. OO6marbca (YCTHO W IHUCBMEHHO) Ha HHOCTPAHHOM  SI3bIKE€ Ha
1po(heCcCUOHATIbHBIE U TIOBCETHEBHBIE TEMBI;

2. llepeBomauTh (CO CJOBapeM) HHOCTPAHHBIE TEKCThl MNPOPECCUOHATBHON
HaIpaBJIEHHOCTH;



3. CaMOCTOSITEILHO COBCPIHICHCTBOBATh YCTHYIO U IMCbMCHHYIO P€ib, ITOIIOJIHATD
CHOBapHLIﬁ 3ariac,

II1. ®opMbI U MeTOABI OLICHUBAHUS

KouTponb u onieHka 3HaHUM, yMEHH, a Takke cOpMUPOBAHHOCTh OOLTUX U
npo(heCcCUOHANBHBIX  KOMIIETEHIIUHN OCYILECTBIISIIOTCS. € MCIIOJIb30BAHUEM
CleyIoIUX (opM U METOJIOB: IPOBEIEHUS TECTUPOBAHUS, BBIIIOJHEHUS JIEKCUKO-
rpaMMaTHYECKUX 3aJaHuil, paboThl ¢ NPOPECCHOHATBHO OPUEHTHUPOBAHHBIMU
TEKCTaMHU.

OmeHka  OCBOGHHMA  JUCUUIUIMHBI  TPEAyCMaTpUBAaeT  HCIOJIb30BaHHE
HAKOMUTENBHOM  CHUCTEMbl OIICHMBAaHUS IPH NPOMEXKYTOUYHOW aTTecTaluud Hu
auddepeHIIMPOBAaHHOM 3a4eTe.

IV. KoHTPO/IbLHO-011eHOYHBIE CPEACTBA AJIA TEKYLIero KOHTPOJIA
Paznen 1. Ctpanbl u3yuyaemoro si3blka
Tect Nel
Bapuanr 1
3apanue Nel:

1. Ann never ... to work by bus.

a) go b) does go c) goes

2. Mary ... alot last year.

a) travels b) did travel c) travelled
3. She ... French at all.

a) not speaks b) doesn’t speak c¢) doesn’t speaking

4. This book ... five years ago.
a) write b) wrote c) was written

5. We ... this work tomorrow.
a) did b) will do c¢) done



3aganmne Ne2:

1. I think the article ... tomorrow in the evening.

a) will translate b) will be translated
2. The city ... on the banks of the river.

a) is situated b) situated

3. About 5 000 new houses ... last year.

a) were built b) are built

4. He ... to the theatre next month.

a) goes b) will go

5. Soldiers ... obey their commander’s orders.
a) can b) must
Bapuanr 2

3aganue Nel :

1. Soldiers ... obey their commander’s orders.
a) can b) must
2....Icome in?

a) can b) must

3. I’m afraid you ... everything once again.

a) must do b) have to do

4. ... you speak English?

a) may b) must

5. Itwas 10 o’clock. I ... leave.

a) must b) have to

c¢) will translated

c) are situated

c) built

c) went

c) may

c) may

c) may

¢) can do

c) can

c¢) had to



3aganme Ne2:

1. ... I come in?

a) can b) must c) may
2. I’m afraid you ... everything once again.

a) must do b) have to do ¢) can do
3. ... you speak English?

a) may b) must c) can

4. It was 10 o’clock. I ... leave.

a) must b) have to c¢) had to
5. When I was aboy I ... play football.

a) can b) must ¢) could

Tect Ne 2

Bapuanr 1

3ananusn:

Bri0epuTe npaBWJIbLHbIN BAPUAHT.

1. The Australian continent is washed in the north by ....

a) the Arafura Sea b) the Irish Sea c) the North Sea

2. The land varies from high mountains to deep canyons in ....
a) Australia b) the USA c) the UK

3. The USA stretches from ... in the north to ... in the south.
a) Canada ... Mexico b) Mexico ... Canada c¢) Brazil ... Cuba
4. ... is the highest mountain in England and Wales.

a) Snowdon b) Elbrus c) Everest

5. No place in ... is more than 75 miles from the sea.

a) Great Britain b) the USA c) Australia
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Bapuanr 2

3ananusn:

Bbi0epuTe NpaBUJILHBIN BApHAHT.

1. The centre of the Australian continent is taken by ....

a) the mountain ranges b) the deserts c) the plains

2. The chief rivers of Great Britain are ..., ....

a) the Avon, the Thames b) the Missouri, the Yukon c) the Murray, the Darling
3. ... 1s located to the south of Asia, between the Pacific and Indian oceans.

a) The USA b) Great Britain c) Australia

4. The southern parts of ... have warm temperatures year round, but the northern
parts have very cold winters.

a) Australia b) the UK c) the USA

S. ... is typical of the UK.

a) steady rainfall b) severe drought ¢) cold winter

Tect Ne 3

Bapuanr 1

3ananne:

[. [IpounTaiire Bonmpocs! 1-4 u TekcThl, 0003HaueHHbIe OykBamu A-E. Ycranosure,
B KAKMX TEKCTaX MOKHO HAlTH OTBET HA 3TH BONPOChl. OTBET HA KaXK/IbIi BOIIPOC
MO’KHO HalTH TOJBKO B OJJHOM TEKCTE. 3aHECUTE CBOU OTBETHI B TAOJIHILY,
IPUBEAEHHYIO HIXKE, II€ 0] HOMEPOM BOIPOCA BIIUILIUTE COOTBETCTBYIOILYIO
OykBy. B 3aganuu oquH TEKCT JIUIIHUMN.

Where can tourists....

1. learn more about extreme sports?

2. see a country which is as large as America?

3. enjoy the most splendid view of the Niagara Falls?
4. have lunch at a sand dune?

A. Canada has an area of nearly ten million square kilometers. It is a country of
lakes. Since the building of the St. Lawrence Seaway the Great Lakes and the St.
Lawrence River form a great water way from the Atlantic to the heart of the
country. The Niagara Falls on the Niagara River between Lake Erie and Lake
Ontario are one of the most splendid sights in the world.

B. New Zealand is famous for its geysers, thermal springs, its national past time

rugby and extreme sports. It is a mountainous country. Most of North Island and
11



the south-west of South island have good forests of evergreen trees and large areas
are rich grasslands. Tourists are offered such extreme amusements as tramping
through virgin forest, rafting on rushing mountain rivers, jumping from helicopters
and bridges into precipices and water.

C. Australia is massive and very sparsely peopled: in size in rivals the USA, yet
it’s population is just over eighteen million. This is an ancient land, and often looks
it. In contrast, its cities — most of which were founded as recently as the mid
nineteenth century — express a youthful energy.

D. Indian people are very friendly and hospitable. I continued to travel in India at a
snail’s pace. The longer we were out in the desert, the more beautiful it grew, so
peaceful and romantic as the land shifted from scrub bush to sand dunes to rocky
hills and back to sand dunes. Each day we could stop at a new sand dune for lunch.

E. Dubai (a land of sunrise) was once a part of a large desert. But now it is a green
island of everlasting summer, a centre of world entertainment, and a civilized city
in the United Arab Emirates. There are wonderful buildings of glass, skyscrapers,
peaceful fountains in the middle of flower gardens, and meadows with colorful
plants.

Bapuanr 2
3ananne:
Match the names of the famous British people (a-f) with the sentences (1-5).

1 | All the British admire that man. He was a brave and a
skillful admiral. He won the battle of Trafalgar. Sir Isaac
Newton

2 | The British called her “the Queen of people’s hearts”. She | b | Horatio
was well-known for her charity; she helped people with Nelson
dangerous diseases. At the age of 20 she married Prince
Charles and they had two sons.

3 | His name is well known all over the world. He acted at the | ¢ | Daniel Defoe
London theatre called “The Globe and wrote tragedies,

12




historical plays, comedies and poetry. His plays are still
popular — not only in England but in the whole world.

4 | He is one of the greatest men in the history of science. He William
was born in a small village in England in 1642, studied Shakespeare
mathematics and physics at Cambridge University. He
discovered the universal law of gravitation.

5 | He was a famous English writer of the eighteenth century. Princess
He wrote his famous book when he was nearly 60 years Diana

old. His book was based on the real adventures of a sailor,
who had lived alone for four years on a desert island. For
this book he was called “the father of English prose”.

Tect Ne 4

Bapuanr 1

3amanue Nel:

Bbi0epuTe NpaBUJILHBIN BApHAHT.

1. The Australian continent is washed in the north by ....

a) the Arafura Sea b) the Irish Sea c) the North Sea

2. The land varies from high mountains to deep canyons in ....
a) Australia b) the USA c) the UK

3. The USA stretches from ... in the north to ... in the south.
a) Canada ... Mexico b) Mexico ... Canada c) Brazil ... Cuba
4. ... 1s the highest mountain in England and Wales.

a) Snowdon b) Elbrus c) Everest

5. No place in ... is more than 75 miles from the sea.

a) Great Britain b) the USA c) Australia

3ananme Ne2: [Ipouuraiite nHpOpPMALUIO O CTYJEHTAX, TOJIBKO YTO MPUEXABIINUX
B JIETHIOIO 1IKOJy. [Togbepure mpaBuiIbHBIN 3ar0I0BOK JIJIsl KXKI0M 4acTH TEKCTa

N3 IPCATTOKCHHBIX BApUAHTOB!

A. Eating traditions

B. A treat and a song go together

C. A popular way of getting many presents
D. Holiday decoration business

E. Holiday food business

F. Cooking special holiday dishes

1. Many stores in the USA stock a large range of holiday house decorations for

13




a month before the holiday itself. For instance, on Thanksgiving Day they sell
pumpkins and leaves specially designed for adorning. As for Halloween, stores
offer flashlights, masks, and skeletons for decorating the gardens and for scaring
one’s guests. Thus, people alter the attire of their houses several times a year. The
wealthier families change not only the season’s outside decorations but even the
interior of their houses such as curtains, carpets and pictures.

2. On the Eve of Thanksgiving Day, most supermarkets are flooded with turkeys
selling at lower prices. Turkey producers have to decrease their price because they
must sell all the turkeys as soon as possible, otherwise they will still have them
when Christmas comes or even longer. Almost nobody buys turkey for an ordinary
meal (during the rest of the year). At Christmas, Americans also cook a turkey

or they can choose another traditional dish, e. g. roasted ham.

Bapuanr 2
3amanue Nel:
Boi0epuTe npaBWJIbLHbIN BAPUAHT.

1. The centre of the Australian continent is taken by ....

a) the mountain ranges b) the deserts c) the plains

2. The chief rivers of Great Britain are ..., ....

a) the Avon, the Thames b) the Missouri, the Yukon c) the Murray, the Darling
3. ... i1s located to the south of Asia, between the Pacific and Indian oceans.

a) The USA b) Great Britain c) Australia

4. The southern parts of ... have warm temperatures year round, but the northern
parts have very cold winters.

a) Australia b) the UK c) the USA

5. ... is typical of the UK.

a) steady rainfall b) severe drought c¢) cold winter

3ananme Ne2: [Ipounraiite nHPOpPMAIIKIO O CTYJIEHTAX, TOJHKO YTO MPUEXABIINX
B JIETHIOIO 1IKOJy. [TogbepuTe mpaBuiIbHBIN 3ar0I0BOK JIJIsl KXKI0HM 4acTH TEKCTa
U3 MPEJII0AKEHHBIX BAPUAHTOB:

A. Eating traditions
B. A treat and a song go together
C.A popular way of getting many presents
D. Holiday decoration business
E. Holiday food business

14



F. Cooking special holiday dishes

1. One of the peculiarities of Americans is that they do not usually sit around the
table for a holiday meal. For larger groups, all the food usually stands on a special,
separate table that is beautifully decorated. Everyone can serve themselves with the
food they want. What is more, they do not usually have salads,” which may seem
rather strange for the Russians living there. Salads, to Americans, may be nothing
more than tossed leaves oflettuce with afew other vegetables.

2. One more type of celebration, which is connected with presents, are «showersy,
for instance a baby-shower or a wedding-shower. For a baby-shower, a pregnant
woman is given presents for her future child, whereas for a wedding-shower
a bride receives presents for her household. These showers are popular because
on the one hand, it is usually a moderate price to rent a cafe or a restaurant and
order some kind of snacks such as crisps and sauces and salads. On the other hand,
it is very pleasant to be «showered» with presents. Many people are usually invited
to such parties.

Paspnean 2. V3BecTHBIE JIFOU KYJIBTYpPbl U HAYKH.
Pasnen 3. 51 u Mup, B KOTOPOM $1 )KMBY.

Bapuantl

3aganue:

Read the texts about famous Russian people. Match the texts with the names of
these famous people.

1 | He was a well-known Soviet and Russian actor and clown | a.
who acted in many popular films. He worked in a circus Valentina

in Moscow and now this circus has his name. Children Tereshkova
and grown-ups like to visit it.
2 | She is a Russian professional tennis player. She is an b

Olympic medalist, who won silver for Russia in women's | Peter the Great
competition at the 2012 Summer Olympics in London.

3 | She 1s a Russian cosmonaut. She was the first woman in C.
the world to fly in a space rocket. She flew in spaceship Dmitry Bilan
Vostok 6 on 16 June 1963.

4 | He was a Russian czar at the end of 17th century. He is d.
best known for his big reforms and made Russia a great Yury Nikulin
nation. He went to Europe where he met many talented
people and learnt a lot of jobs. He built ships and created
Russian fleet. He founded St. Petersburg.

5 | He was a Russian scientist and inventor. He discovered €.
and formulated the Periodic Law and made the Periodic Maria Sharapova
Table of Elements. An interesting fact about him is that he

15



saw this system in his dream, when he was sleeping.

6 | He is a Russian actor, singer and a songwriter. He f.
represented Russia at the Eurovision Song Contest 2006 Mikhail
with the song "Never Let You Go". He won the second Lomonosov

place. In 2008, he won the contest in in Belgrade with the
song "Believe".

Bapuanr 2
3ananue:
Ecological Problems
Ecology is a science which studies the relationship between all forms of life on our
planet and the environment.

Since ancient times Nature has served Man, giving him everything he needs: air to
breathe, food to eat, water to drink, wood for building and fuel for heating his
home. For thousands of years people lived in harmony with the environment and it
seemed to them that the resources of Nature had no end or limit.

With the industrial revolution our negative influence on Nature began to increase.
Large cities with thousands of polluting plants and factories can be found
nowadays all over the world. They pollute the air we breathe, the water we drink,
the fields where our crops are grown. Big cities suffer from smog. Cars with their
engines have become the main source of polluting in industrial countries.

Vast forests are cut down everywhere for the needs of industries. As a result many
kinds of animals, birds, fish and plants are disappearing nowadays.

The pollution of the air and the world’s oceans and the thinning the ozone layer are
the other problems arising from men’s careless attitude to ecology.

Active measures should be taken to save the life on our planet. There is an
international organization called Greenpeace which is doing much to preserve the
environment.
Questions to the text on ecological problems:
Why are the wild animals in danger?
What climatic changes are the most threatening?
Is there any way to make our air cleaner
What is Green Peace?
What are the main ecological problems?

Nk W=

Paznea 4. Cnopr 1 310pOBbIil 00pa3 KU3HU.
Bapuanr 1
3ananme:

16



Swimming

Read the text. Complete the passages using the words. racing, until, goggles
(ouku), almost, as long as, safety, splash, besides, ear plugs (bepywu), prevent.

Most Americans can swim, and 1 everyone likes at least to 2

around in the waves on a hot day at the beach. Knowing how to swim

is important for 3 but when you do it seriously, swimming is also one of
the best exercises for your body.
4 water and  swimsuit you don’t need  much.
5 keep irritating chlorinated water out of your eyes and let you watch
where you’re going, A swimming cap makes you more streamlined for
6 and keeps your hair out of your face.
7 keep the water out and 8 ear infections.
To get in shape, start by swimming twenty minutes three times a week. Add ten
minutes 9 you’re swimming for an hour each time. Vary your strokes

to work different muscles. It’s okay to take short breaks, 10 your
heart rate stays up.

Bapuanr 2
3ananme: Read the text. Answer the questions.
Sports and healthy lifestyle

Sport plays an important role in the life of teenagers. Those people who go in
for sports, lead a healthy lifestyle, follow a diet and control their weight tend to be
more cheerful and are less susceptible to diseases. On the other hand, those people
who don't participate in any physical activity and prefer junk food tend to be
subjected to obesity and are at risk of heart and vascular diseases. As a matter of
fact, the problem of obesity is one of the most pressing in the modern world. Today
more and more teenagers are becoming overweight. One solution that can be put
forward is doing sports, which can help teens not only to lose excessive weight and
to stay fit, but also to feel more vigorous and spirited throughout the day. Physical
exercises are also the perfect way for emotional release. To improve school
performance it is essential for school children to balance mental stimulation and
physical activity. Besides, it is necessary to mention that supporters of healthy life
style are also at much less risk of getting involved in drinking alcohol, taking drugs
and other bad habits than those who are addicted to computer games, instead. In
addition, sports develop the will for victory, as well as caseharden the constitution
and the spirit. Sports also create opportunities to find congenial souls with
common interests and values. That feeling that you are a part of the team can help
to develop your leadership skills and to boost your self-esteem.
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The most popular team sports for teenagers are football, volleyball, basketball
and tennis. However, some youngsters prefer winter sports, such as figure-skating,
ice-hockey and skiing, while others are fond of summer sports, including diving,
swimming, yachting and rafting.

As far as I am concerned, I do like sports. I usually wake up at 7 a.m. and go for a
run or do my morning exercises indoors. Twice a week I take my fitness classes
and go to the swimming pool. I am also fond of yoga which teaches me how to
take care of my body properly and how to stay healthy, flexible and strong. In
summer [ like to play badminton and volleyball with my friends, while in winter |
go to the skating rink. As for dieting, [ am a follower of separate nutrition. When
you eat separately you can eat almost anything but not at the same time. For
instance, for breakfast I prefer a plate of oatmeal, a glass of orange juice and two
apples. As is known, "an apple a day keeps a doctor away". For dinner I can eat
fresh vegetables and some steamed fish. Besides, I prefer mineral water and fresh
juices to fizzy drinks. In conclusion, a healthy person doesn't smoke, eats healthy
food and prefer doing sports to watching them.

Vocabulary:

1) to go in for sports — 3aHMMATBCA CIOPTOM

2) to lead a healthy lifestyle — Bectr 3m0p0oBBIif 00pa3 KU3HU
3) to follow a diet — cobmronaTh aueTy

4) physical activity — dusnueckas 1eaTeIbHOCTb

5) to take part (in) / to participate in — npuHUMAaTh ydacTue (B 4eM-JI100)
6) junk food — He3mopoBas nuiia, hact-pyn

7) to lose weight — xyneTs, cOpacbIBaTh Bec

8) to keep fit — ocraBaThcs B Xopouieit pusnueckoit popme
9) susceptible to diseases— BOCIPUUMYUBBINA K 00JIE3HIM

10) heart and vascular diseases — cepaedHO-COCYUCThIE 3a00IE€BaHMS
11) obesity—Ty4HOCTb, O)KUpEHUE

12) overweight people— mtoau ¢ U30BLITOUHBIM BECOM

13) vigorous — CUJIbHBIN, SHEPTUIHBIN

14) spirited— >k1BO#, O)KUBJIEHHBIHN, SHEPTUUHBIN

15) emotional release— smormonaneHas pasrpyska

16) bad habit — nypnast npuBbIuKa

17) to caseharden the constitution — 3akansiTh TEIO

18) skating rink — xaTok

19) will for victory — BoJist k mooene

20) to caseharden the spirit — 3akansaTh ayx

21) congenial soul— Gau3KHil MO AyXy YETOBEK
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22 to boost self-esteem — moBbIIIIATH CAMOOIIEHKY

23) to go for a run — BBIXOJUTH HA IPOOEIKKY

24) to do morning exercises — JieJaTh YTPEHHIOK 3apsIKy
25) yachting (sport)— napycHbIi COPT

26) separate nutrition — pa3eiabHOE TUTaHNUE

27) steamed fish — priba Ha mapy

28) oatmeal — oBcsHas Kama

29) fizzy drink — rasupoBaHHBIN HAITUTOK

30) flexible— ruGkwuii.

Answer these questions.

. What role does sport play in the life of teenagers?

. Those people who go in for sports, lead a healthy lifestyle, don’t they?
. What problem is one of the pressing in the modern world?

. How can one solve this problem?

. What role do physical exercises play for emotional release?
. What should students do to improve school performance?

. What bad habits are there in the text?

. What are the most popular sports for teenagers and youth?

. What lifestyle do you lead?

10. What person is called a healthy person?

O 00 3 N i & W N —

Paznen 5. O0b1yam U TpaguIum.
Bapuanr 1
3ananue:
Read the text and say if the sentences below are true (T) or false (F):
Easter

As soon as 2 January arrives, shops remove the Christmas product lines from
their shelves and the Christmas decorations from their windows. What fills the
empty spaces? Chocolate Easter eggs, Easter bunnies and Easter chicks, despite the
fact that Easter itself doesn’t come along until a few months later. Easter also
means we have public holidays, Good Friday and Easter Monday, it’s the longest
public holiday after Christmas and people sometimes take the opportunity to take a
short break away from work by extending their leave. Cheryl from Liverpool said,
‘I use the Easter break to visit relatives and socialise with friends, the chocolate
giving and receiving is a good bonus!’

Easter celebrates the resurrection of Christ. In the European pre-Christian
tradition, it celebrates the return of nature and greenery after the cold, snowy
winter. The Easter chick symbolises new life, the rabbit represents fertility and the
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egg symbolises both. That is why painted eggs or chocolate eggs are given as gifts
at Easter.

Are these sentences T or F?

1) Soon after Christmas the shelves of all the shops become empty.

2) Chocolate Easter eggs, Easter bunnies and Easter chicks can be bought long
before the Easter coming.

3) Easter is the longest public holiday after Christmas.

4) Easter celebrates the return to pre-Christian traditions.

5) Easter eggs symbolize return of nature.

Bapuanr 2
3ananme: Read the text and fill in the gaps:
Christmas in Different Parts of the United Kingdom

In the north of England up to the middle of the 20th century, it (1)
common to find a dish of “Mugga” on the Christmas Eve table. This (2)
a kind of wheat porridge, sweetened with honey, which (3)
before the main meal, and also throughout Advent, which is the month leading up
to Christmas. It (4) a remnant left over from Viking times. But it (5)
up in similar forms all over Europe. In Poland for example they (6)
“Kuia” which is a cereal dish made from wheat, fermented overnight in

milk, sweetened with honey and spiced. In Scotland they (7) “Athol
Brose” which is made from oats. It also has whisky in it and (8) as a
drink!

1. A.is B. are C. was D. had been

2. A.is B. are C. was D. had been

3. A. ate B. eat C. eats D. was eaten

4. A. has been B. was C. 1s D. are

5. A. turned B. was turned C. turn D. turns

6. A. has B. have C. had D. have had

7. A. have B. has C. had D. have had

8. A. 1s served B. was served C. serves D. served

Paznen 6. «IIpousBoacTBo aBTOMOOMIIEI)
Bapuant Nel

3apanue:
Read and translate the text:
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A VISIT TO A PLANT
A group of pupils was going to visit a machine-building plant. They were met by
the chief engineer. He told them a few words about the history of the plant and its
work. After the introduction made by the chief engineer, the pupils were taken over
the shops. They visited a forge, a foundry and the main assembly line. In the shops
they watched the forging, casting and welding processes. The pupils were told
about safety techniques, the aim of which is to prevent accidents. The air in the
shops was purified by modern ventilators and dust-collecting apparatus.
Experimental work was conducted on a large scale; labor-saving devices were
constantly being introduced.
The plant had several sanatoriums and rest homes where the workers could spend
their holidays.
The pupils were much impressed by their visit to the plant and learned many
interesting things about up-to-date equipment.
[TocTaBpTE S BOMPOCOB K TEKCTY.
Make up the story about choosing the profession. Your future plans using given
expressions:
1) after graduating from the vocational school - nocne oxonuanus [TV,
2) 1'd like to get work at... - MHE OBbI XOTEJIOCH TIOJIY9UTh pabOTy Ha (B) ...;
3) I'm going to be... - 1 cOOUPaAIOCh CTaTh;
4) I want to enter the institute - 1 X04y MOCTyIIUTh B UHCTUTYT;
5) entrance exams - BCTyIUTEIIbHbIE 3K3aMEHBI;
6) a full-time student - CTyJJleHT THEBHOTO OT/EICHUS;
7) a half lime student - cTyneHT Be4epHETO OTACICHUS;
8) a fitter (a bench worker) - cnecapp;
9) a technician - TEXHUK;
10) a mechanic - MexaHUK;
14) a welder — cBapIIuK.

Bapuant Ne2
3amanue:
Read and translate the text:

OUR WORK AT THE PLANT
I study at the college. I have practice on my profession at a big plant. My work is
interesting and important. I am fond of my work. The workers of the plant fulfill
and over fulfill the plan. The automation is introduced in many shops. The
production is being constantly increased. My friends and I take part in social life of
the plant.
I study and work three days a week. I'm learning many subjects. My favourite
subjects are Physics and Literature. Besides, we have many special subjects. |
study a trade of a turner and I operate a modern universal lathe. My foreman is an
old worker. He is a skilled worker. He performs the most difficult operations.
After graduating from the college I'm going to become a mechanic and study at
the institute.
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Answer the questions:

1.Where do you study?

2.Where do you work?

3.Is your work interesting and important?
4.Do you take part in social life of the plant?
5.What subjects do you learn at the college?
6.What trade do you study?

7.What are your future plans?

Paznen 7. «IIpou3BOACTBO M TEXHUKA 0€30MACHOCTH
Bapuanr 1
3aganue:

safety engineering - TeXHUKa O€30MaCHOCTH
accident - HECHaCTHBIN clTydai

safety rules - mpaBuiia TEXHUKA

lack - HexBaTka, OTCYTCTBHE 0€30MMaCHOCTH
training workshop - yaeOHbIH 11eX (MacTepcKasi)
to ensure — o0ecIieunBaTh

Change the Russian words into the English ones:
This was necuacmmuwiti ciyuail.

All people should keep mexnuxy 6ezonacnocmu.
Do you know npasunra mexuuxu?

We work in macmepcroii.

I o6ecneuusaro safety engineering.

Read and translate the text:

SAFETY ENGINEERING
Accidents to people in industrial enterprises are called industrial traumatism
(injury). They occur when workers have not acquired the requisite for skill and
lack the necessary experience in handling tools and equipment. Accidents are also
caused through neglect of safety rules and regulations in the factories and training
workshops.
The purpose of safety engineering is to prevent accidents and to create such
conditions of work in industry which will ensure maximum productivity of labour.
When taking up new duties or when first going to work at any industrial enterprise
each worker 1s obliged to acquaint him thoroughly with, and to master the safety
instructions.

Answer the questions:
1.How are the accidents to people in industrial enterprises called?
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2.When do the accidents to people occur?

3.What must one do to prevent accidents?

4.What is the purpose of safety engineering?

5.What is a worker obliged to do when taking up new duties?

Bapuant 2

3apanue:

Find the Russian equivalents:

1.quantity a. )KECTKHI (3KECTKOCTb)
2.alloy b. yriepon

3.carbon C. pacTsKeHUe
4.substance d. momomka
5.tough(ness) €. KOJIMYECTBO
6.hard(ness) f. KOBKOCTh

7.ductility g. pa3pbiB
8.malleability h. mpouHOCTH

9.tension 1. BA3KOCTh
10.compression J. CILJIaB

11.rupture k. TBepbIii (TBEpAOCTD)
12.strength 1. cxatue

13.braking m. BEIIECTBO

Translate the words into Russian:
metal, industry, industrial, absolutely, laboratory, steel, elastic, mechanical, result,
atom, atomic, structure, special, temperature.

Read the text and do the tasks:
METALS

Mankind has used metals for centuries in gradually increasing quantities but only
now they are employed in really great quantities.

Today we know more than seventy metals, the majority of which are used in
industry.

Of all the metals iron is the most important one. Absolutely pure iron is never
prepared except for laboratory purposes. The irons and steels in use today are
really alloys of iron, carbon and other substances. They can be made elastic, tough,
hard, or comparatively soft.

Mechanical properties of metals are the result of their atomic structure. They
include hardness, ductility and malleability which are of special importance in
engineering.

Ductility is the capacity of a metal to be permanently deformed in tension without
breaking.

Malleability is the capacity of a metal to be permanently deformed by compression
without rupture.
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These properties are similar to each other but not the same. Most metals increase
these properties at higher temperatures.

The strength of a metal is the property of resistance to external loads and stresses.
These mechanical properties are of great importance in industrial purposes
because all parts and units made of iron and steel must meet up-to-date demands.

Match the questions and the answers:

1.What is the most important a. The capacity of a metal to be permanently
metal? deformed in tension without breaking.
2.What mechanical properties of b. Iron.
metals do you know? c. The capacity of a metal to be deformed by
3.What is strength? compression without rupture.
4. What is ductility? d. The property of a metal to resist to external
5.What is malleability? loads.

e. Hardness, ductility and malleability.

Complete the sentences:

1.The most important metal in use today is....

a) carbon

b) iron

¢) some other metal

Ductility is the capacity....

Malleability is the capacity of a metal....

The strength of a metal is the property....

a) to be permanently deformed in tension without breaking
b) to be permanently deformed by city of compression without rupture
c) to resist to external loads and stresses

Pa3znen 8. « CoBpeMeHHBI aBTOMOOMIIbY

KonTpoJbHoe 3aganune Nel
Bapuanr 1
3ananue:
Match the words and their meanings:

1.ferrous metals a. IPOBOJIUMOCTh

2.cast iron b. yrmepoaucras craib

3.carbon content C. U3HOCOCTOMKOCTh

4.alloy steel d mpoYHOCTS.

5.carbon steel €. 00pabaTbeIBaeMOCTh (Ha CTaHKE)
6.strength f. JKeCTKOCTE.

7.hardness g Kemne3o
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8.ductility h. cruta

9.machinability 1. YepHBIC METAILIbI
10.resistance to wear J.UyTYH

11.conductivity k. conepxanue yriepojaa
12.iron 1. KOBKOCTh

13.silicon m. JISTUPOBAHHAS CTaJb
14.alloy n. KpEMHUI

15.rust-resistant 0. HEpKaBEIOLIU I

Translate the words into Russian:

metal, element, industry, steel, material, industrial, electronic, magnetic, type,
chemical, mechanical, rocket, automobile.

Read and translate the text:

FERROUS METALS AND STEELS
Ferrous metals consist of iron combined with carbon, silicon and other elements.
But carbon is the most important element in ferrous alloys.
Ferrous metals are used in industry in two forms: steel and cast iron, which differ
in the quantity of carbon content.
Alloys consist of a simple metal combined with some other element. Steel is a
ferrous material having some carbon content. There are two kinds of steel: carbon
steel and alloy steels.
Carbon steel should contain only iron and carbon without any other alloying
element.
Alloy steels are those in which in addition to carbon an alloying element is
present. These alloying elements have an effect on the properties of steel. They
increase its strength and hardness, for example, high percentage of chromium
makes steel rust-resistant, and we call it "stainless steel".
Strength, ductility and machinability are the most important industrial and
commercial properties of steel. Such properties as resistance to wear, electrical
conductivity, and magnetic properties are important in special uses of metals.
According to their chemical and mechanical properties steels may be used in
different branches of industry, for example, in machine building, rocket
engineering, automobile industry, etc.

Match the questions and the answers:

1.What elements do ferrous metals
consist of?

2.What is carbon steel?
3.What arc alloy steels?
4.What are the most
properties of steel?

5.In what branches of industry are steels

important

a.Steels in which in addition to carbon
an alloying element is present.

b.In machine building, automobile
industry, etc.

¢.Of iron combined with carbon, silicon
and other elements.

d.It contains only iron and carbon.

25




used? e.Strength, ductility and machinability.

Bapuanr 2
3apanue:
Match the words and their meanings:

1.lustre a. OKpy’Karolas cpeaa
2.property b. 3amumarh ot
3.quantity C. moABEpraThes
4.conductivity d m1oxoi# MpOBOTHUK
5.solid state €. KOJIMYECTBO
6.brittle f.0neck

7.undergo g. CIUIaB

8.to protect from h. cBoiicTBO
9.environment 1. MPOBOJIUMOCTD
10.alloy ] TBEPIOE COCTOSIHHE
11.poor conductor k. xpynkuii
12.distinction 1. mpoyHOCTH
13.strength m. )KECTKOCTb
14.hardness n. pa3nuyue

Translate the words into Russian:

metal, metallic, electricity, electric, fact, group, rocket, construction, element,
material, corrosion, chemical, electromechanical, product, steel, organic, barrier,
industry.

Read, translate the text and do the tasks:

METALS AND NONMETALS
There are some distinctions between metals and nonmetals. Metals are
distinguished from nonmetals by their high conductivity for heat and electricity, by
metallic lustre and by their resistance to electric current. Their use in industry is
explained not only by those properties, but also by the fact that their properties,
such as strength and hardness, can be greatly improved by alloying them with other
metals.
There are several important groups of metals and alloys. The common metals such
as iron, copper, zinc, etc. are produced in great quantities.
The so-called precious metals include silver, gold, platinum and palladium. The
light metals are aluminum, beryllium and titanium. They are important in aircraft
and rocket construction.
Many elements are classified as semimetals (bismuth, for example) because they
have much poorer conductivity than common metals.
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Nonmetals (carbon, silicon, sulphur) in the solid state are usually brittle materials
without metallic lustre and are usually poor conductors of electricity. Nonmetals
show greater variety of chemical properties than common metals do.

Metals can undergo corrosion, changing in this case their chemical and
electromechanical properties. In order to protect metals from corrosion the
products made of metals and steel are coated by some films (coatings). Organic
coatings protect metals and steel from corrosion by forming a corrosion-resistant
barrier between metal or steel and the corrosive environment.

Match the questions and the answers:

1.By what properties are metals
distinguished from nonmetals?

2.What common metals are produced in
great quantities?

3.What metals are called light?

4.What properties do nonmetals have?
5.What is done to protect metals from
corrosion?

a.Iron, copper and zinc.

b.They are usually poor conductors of
heat and electricity

c. They are coated by some organic
coatings.

d. High conductivity for heat and
electricity.

e. Aluminum, beryllium and titanium.

KonrpouabHoe 3ananue Ne2

Bapuanr 1

3ananue:

Match the words and their meanings:
1.grinder a. KpOHIITEHH
2.lever b. 3arotoBka

3.wheel slide
4.cross-feed

5.wheel spindle
6.bracket

7.wheel head

8.to clamp

9.to set-up

10.to adjust
11.longitudinal direction
12.work piece

h. peruar

Translate the words into Russian:

C. IPOJI0JIbHOE HAIIPABIICHHUE

d. HaJTaXXUBATh CTAHOK (0/11 KAKOU-1. pabomul)
€. peryampoBaTh

f. mnmdoBaIbHBINA CTAaHOK

g. i oBaIbHBIN CYIIOPT

1. IonepeyHas nojavya

j. nudoBabHAS TOJTOBKA

k. mmusaens num@oBaIbHOTO Kpyra
1. 3axumath

universal, cylinder, type, mass, massive, construction, hydraulic, control, function,

spindle, motor.
Read the text and do the tasks:
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THE HYDRAULIC GRINDER
This universal grinder is designed for grinding cylindrical holes and faces of work
pieces. It is widely used for lot production in various types of machine building
plants.
Machines of this type are of very massive construction, but they are designed in
such a way that they can be operated as easily as machines of smaller sizes.
They are hydraulically operated and controlled by a single lever located at the front
end of the machine. This single lever controls all functions of the machine
including all movements of the wheel slide, cross-feed, starting and stopping the
work of the spindle.
The wheel spindle is driven by a V-belt from a motor located on a bracket on the
wheel slide. The cross-feed for the wheel slide is operated by a hydraulic unit.
The wheel head is clamped on the top surface of the table. When setting up the
grinder, the wheel head can be adjusted in a longitudinal direction to suit the length
of the work piece.

Match the questions and the answers:

1.What operations are the universal grinder | a.By a hydraulic unit.

designed for? b.For grinding cylindrical holes of
2.What mechanism controls the movements | work pieces.
of the wheel slide and cross-feed? ¢.On the top surface of the table.

3.By what unit is the cross-feed for the wheel | d. The lever.
slide operated?
4. Where is the wheel head clamped?

Bapuant 2

3ananue:

Match the words and their meanings:

1.mechanical engineer a. TOJITH CPOK CITY>KOBI

2.to deal (with) b. 3amycTUTh B MaCCOBOE MIPOU3BOCTBO

3.designing cars C. IOJIBEPraTh UCTIHITAHUSM

4.to put into mass production d. mmaBHOE CreTIeHUE

5. long service life €. OTBEYaTh COBPEMEHHBIM TPEOOBaAHUAM

6.driving safety f. umeTs neno (c kem-u., uem-u.)

7.to meet up-to-date demands g. HaJIe)KHBIE TOPMO3a U PYJIEBOE
yTpaBlicHUE

8.smooth-acting clutch h. 6e30macHOCTh €3/1b1 (BOXKICHMS)

9.silent gearbox 1. 6ecirymHasi KOpoOka repeaay

10.dependable brakes and steering

system J. MTH)KEHEP-MEXaHUK

11.to subject to tests k. KOHCTpyHMpOBaHHE aBTOMOOMIIEH
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Translate into Russian:

mechanical, mechanism, specialist, industry, phase, technology, process,
laboratory, test, fact, automobile, engineer, method, principle, corrosion, type,
material, comfortable.

Read the text and do the tasks:

AUTOMOBILE PRODUCTION
1.Specialists in automobile industry deal with designing and manufacturing cars,
so they should know that the production of the automobile comprises the following
phases:
Designing,
Working out the technology of manufacturing processes,
Laboratory tests,
Road tests.
Mass production (manufacturing).
2.Why is it necessary to know all these facts?
It is important to know them as before the automobile (car or truck) is put into
mass production, it should be properly designed and the automobile must meet up-
to-date requirements.
3.What are these requirements?
The automobile must have high efficiency, long service life, driving safety, ease of
maintenance and pleasant appearance.
In order to obtain all these qualities engineers should develop up-to-date methods
of designing cars, using new types of resistant to corrosion light materials. Also it
is important to know computer science because it is intended to shorten the time
between designing and manufacturing. Computers offer quick and optimal
solutions of problems.
But before the car is put into mass production all its units and mechanisms are
subjected to tests, first in the plant's laboratory, then the car undergoes a rigid
quality control in road tests. Only then the car is put into mass production. Why are
these tests required? What qualities are required of the automobile? The modern
automobile must be rapid in acceleration, must have smooth acting clutch, silent
gearbox, dependable brakes and steering system, as well as pleasant appearance.
Also it must be comfortable and have all conveniences.

Match the questions and the answers:

1.What phases does the | a. It must have high efficiency, long service life,
production of the | driving safety, ease of maintenance and pleasant
automobile comprise? appearance.

2.What requirements must | b. They should be able to develop up-to-date
the automobile meet? methods of designing cars and shorten the time
3.Why are cars subjected to | between designing and manufacturing.

road tests? ¢ Because they must meet up-to-date requirements.
4.What qualities are | d. Designing, working out technological
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required of the automobile? | processes, laboratory and road tests, mass
5.Why is it important for | production.

the specialists in | e. It must be rapid in acceleration, must have
automobile industry to | smooth acting clutch, silent gearbox, dependable
know computing methods? | brakes and steering system.

V. KOHTPO/IbHO-01ICHOYHbIE CPeICTBA I IPOMEKYTOUYHOM aTTecTauuu

Bapuant Ne 1
3ananmue:

1. Match the words and their meanings:

body

car wheels

power train
power plant
springs

steering system
clutch

final drive

engine crankshaft
push down the pedal
brakes are applied
frame with axles

a. TOpMo3a cpabaThIBaIO

b. cusnoBas nepenaya

C. TJIaBHAs Tiepeaaya

d. KoyleH4aThIN BaJ ABUTATEIh
€. HAKMUMAaTh Ha TIe1alb

f. cunoBas ycraHoBka

g. KoJieca aBTOMOOUIIS

h. pama c ocsimu

1. TOTUTMBHASI CUCTEMA

J. pyJieBas cucreMa

k. cuerienue

1. BcrmomMoraTenbHbIE YCTPOMCTBA

fuel system m. CUCTeMa CMa3Ku

lubricating system n. Ky30B
accessories 0. peccopsl
2. Translate into Russian:

automobile, chassis, speedometer, electric, system, cylinder, cardan, control,
hydraulic, pedal, accessories, differential.
3. Read. Translate the text and do the tasks:

COMPONENTS OF THE AUTOMOBILE
Basically, the automobile consists of three parts: the power plant, or the engine, the
chassis and the body. To these may be added the accessories: the heater, lights,
radio, speedometer and other devices.
The power plant or engine is the source of power that makes the wheels rotate and
the car move. It includes electric, fuel, cooling and lubricating systems. Most
automobile engines have six or eight cylinders.
The chassis consists of a power train, frame with axles, wheels and springs. The
chassis includes brakes and steering system.
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The power train carries the power from the engine to the car wheels and contains
the clutch, gearbox, propeller or cardan shaft, differential and the final drive.

The clutch is a friction device connecting (or disconnecting) the engine crankshaft
to the gears in the gearbox. It is used for freeing the gearbox from the engine and is
controlled by the clutch pedal.

Brakes are important mechanisms of the car. They are used to slow or stop the car.
Most braking systems in use today are hydraulic. They are operated by the brake
pedal. When the driver pushes down on the brake pedal, they are applied and the
car stops.

4. Match the questions and the answers:

1. What are the main basic parts of | a. The clutch, gearbox, cardan shaft and the
the automobile? final drive.

2. What does the chassis consist of? | b. Freeing the engine from the gearbox.

3. What units does the power train ¢ The power plant, the chassis and the body.

contain? d. A power train, frame with axles, wheels
4. What is the function of the and springs.
clutch? e. To slow or stop the car.

5. Why are brakes needed?

5.Complete the sentences:

1.The mechanism used for stopping the car is....

2.The mechanism used for changing the speed is....

a) clutch

b) gearbox

c) brakes

3. The mechanism used for connecting (or disconnecting) the engine from the
gearbox is ....

a) brakes

b) clutch

c) steering system

4. The unit carrying the power from the engine to the car wheels is....
a) power plant

b) power train

¢) chassis

5. The instrument measuring the speed of the car is...

a) heater

b) lights

¢) speedometer

Bapuanr 2
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3amanue:

shape - hbopma

casting - OTIINBKa

rolling - mpokar

welding - cBapka

piercing - IPOXO0XKIAECHUE

trimming - oOpe3Ka (3aeJIka OTBEPCTHS KPaeB)
Spinning - BbIIaBIUBaHUE (HA TOKAPHO-TABUIHLHOM CTAHKE)
drawing - yepueHue; 30. BBITITUBAHUE

chuck - 3axuM; TaTpoOH, JAep>KaATEIh

carriage - KapeTka

milling - ppe3epoBanue

surface - MIOBEPXHOCTh

grinding - npobieHue (M3MenbueHue), NG OBKA
convenient - y10OHBII

fo equip - CHapsKaTh, 000PyI0BATh

shaping - npuaanue Gopmbl

thread - pe3n0a; Hape3Ka

bending — crubanue

headstock - nepenusis 6abka

tailstock - 3aausist 6abka

lathe - TOKapHBII CTAHOK

drilling — cBepnenue

cutting — pe3anue

high-speed — ckopocTHOM

efficient — >(peKTUBHBIMI

forging — KOBKa

boring - GypeHue, cBepJeHUe

steel - ctainb

Read and translate the texts:

MACHINE-TOOLS
Metal undergoes a number of processes before it is formed into the required shape:
casting, rolling, welding, piercing, trimming, spinning, bending, drawing, etc.
The machines which perform all these kinds of works are called machine-tools.
The most common machine-tool found in almost any workshop is the lathe. The
main parts of it are: the headstock, the chuck, the tailstock, the carriage.
The automatic lathe is a perfection of the ordinary lathe. Its tools are changed
automatically. A worker skilled in the use of a lathe is called a turner.
There are many other machine-tools that work on plane surfaces, for example,
milling machines, planning and shaping machines. Circular holes are drilled by a
drilling machine or bored by a boring machine or a boring mill. Thread milling
machines are used in the production of different machine elements. Gear cutting
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machines include gear milling machines. All these machines use cutting tools
made of high-speed steel.
LATHES

There are three types of lathes produced by our machine-tool manufacturing
works: heavy, medium and light types. The type of a lathe depends upon the size of
diameter of work pieces.
A most convenient and efficient machine is the model combination lathe for
turning, milling, drilling, grinding, slotting, and tool-sharpening jobs. It can be
used both in stationary and mobile repair shops, on ships, etc.

DRILLING MACHINES
The most drilling machines are equipped with mechanisms, permitting not only
drilling, countersinking and reaming, but also cutting female threads with the help
of taps. Both universal and special-purpose type radial "drills are built.

Answer the questions:

1.What processes does metal undergo before it is formed into the required shape?
2.How are the machines which perform this work called?

3.What is the most common machine-tool in any workshop?
4.What are the main parts of a lathe?

5.What is the automatic lathe?

6.How do we call a worker, skilled in the use of a lathe?

7.What machine-tools that works on plane surfaces, do you know?
8.What do the drilling machines drill?

9.Where are the threads milling machines used?

10.What are the main types of lathes?

11.What is the most convenient and efficient machine?

12.What are the most drilling machines equipped with?

Bapuanr 3
3ananue:
1.Match the words and their meanings:

l.internal combustion engine a. MOPIICHb

2.combustion chamber b. BepxHsisi MepTBasi TOUKa
3.stroke C. YETHIPEXTAKTHBIN JBUTATEIb
4.piston d. koneH4aTHIN Bas

5.top dead centre €. OTBEpCTHE KIlamaHa
6.bottom dead centre f. nBUTraTens BHyTPEHHETO CrOpaHus
7.four-stroke cycle engine g. HIDKHSIS MEPTBask TOUYKa
8.two-cycle engine h. ToruBHas cuctema
9.crankshaft 1. TAKT BOPBICKA (MONIUEA)
10.intake stroke J. IBYXTaKTHBIA JIBUTATEIIb
11.valve opening k. kamepa cropaHus

12.fuel system 1. xon, TaKT (nopuirs)
13.power stroke M. BBIXJIOM
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14.exhaust n. pabouuit X011 MOPIITHS

2.Translate the words into Russian:
cylinder, automobile, limit, centre, cycle, compression, gas.

3.Read, translate the text and do the tasks:

THE ENGINE
The engine is the source of power that makes the car move. It is usually called an
internal combustion engine because gasoline is burned within its cylinders or
combustion chambers. Most automobile engines have six or eight cylinders.
The operating cycle of the four-stroke engine that takes place in the engine
cylinder can be divided into four strokes. The upper limit of the piston movement
is called the top dead centre. The lower limit of piston movement is called the
bottom dead centre. A stroke is the piston movement from the top dead centre to
the bottom dead centre or from bottom dead centre to the top dead centre. In other
words, the piston the completes a stroke each time it changes the direction of its
motion.
Where the entire cycle of events in the cylinder requires four strokes (two
crankshaft revolutions), the engine is called a four-stroke cycle engine. The four
strokes are: intake, compression, power and exhaust.
Two-cycle engines have also been made, and in such engines the entire cycle of
events is completed in two strokes or one revolution of the crankshaft.
On the intake stroke the intake valve is opened. The mixture of air  and
vaporized gasoline is delivered into the cylinder through the inlet valve. On the
compression stroke the inlet valve is closed so that the mixture can be compressed.
On the power stroke both valves (inlet and exhaust) are closed in order to raise
pressure during the mixture combustion. On the exhaust stroke the exhaust valve is
opened to exhaust the
residual gas.

4.Match the questions and the answers:

1.What is the top dead centre?
2.What is the bottom dead centre? | a.When the entire cycle of events is
3.When the engine is called a four- | completed in two strokes.

stroke cycle engine? b.The lower limit of the piston movement.
4.When the engine is called a two- | ¢.The upper limit of the piston movement.
cycle engine? d.When the entire cycle of events in the
5.What kind of strokes can the cylinder is completed in four strokes.
events in the engine cylinder be e.Intake, compression, power and exhaust
divided into? strokes.

5. Complete the sentences:
1.An internal combustion engine is called so because gasoline is burned....
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a) inside the combustion chamber
b) outside the combustion chamber

2. The upper limit of the piston movement is called...
3. The lower limit of the piston movement is called....
a) the bottom dead centre

b) the top dead centre

4. The four-cycle engine requires....
a) two strokes of piston movement
b) four strokes of piston movement

5. The mixture of air and gasoline is delivered into the cylinder....

a) on the power stroke

b) on the exhaust stroke

c¢) on the intake stroke

d) on the compression stroke
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Ipunooscenue 1. Knrouu k KOHmpoabHo-0YyeHOYHbIM cpedcm8am Ol MeKyue2o
KOHMPOA

Paznen 1. CTtpanbl H3y4aeMoro si3bIka

Tect Nel
BapuanTt Nel
3amanune Nel 3amanue Ne2
Knrou k 3a0anuam Knrou k 3a0anuam
1 C 1 B
2 C 7 A
4 C 4 B
Bapuant Ne2
3amanue Nel 3amanue Ne 2
Knrou k 3a0anuam Knrou k 3a0anusam
1 B 1 C
2 C 2 A
3 A 3 C
4 C 4 C
5 C 5 C
Tect No2
Bapuant Nel Bapuant Ne2
3aoanue 3aoanue

Knrou k 3a0anuam
Knrwu k 3a0anuam

SR O R A 1 |2 |3 |4 |5

a b a a a

b a c c a
Tect Ne3
Bapuant Nel Bapuant Ne2
3amanue 3ananue
Knrou k 3a0anuam Knrwu k 3a0anuam
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1 3 4
A B D C
Tect Ne 4

BapuanTt Nel

3amanune Ne 1
Knrwu k 3a0anuam

1 2 3 4
a b a a
Bapuant Ne2

3amanue Ne 1
Knrou k 3a0anuam

1

2 3 4

b

a C C

3amanue Neo2
Knwu k 3a0anuam

1 2
D E
3amanne Ne2

Knrou k 3a0anuam

1 2
A C

Pa3znen 2. U3BecTHBIE JIIOAM KYJIbTYPbl M HAYKH

Bapuanr 1
3aanue:
Knrou k 3a0anuam

They are in danger because vast forests are cut down everywhere for the

The pollution of the air and the world’s oceans and the thinning the ozone

1 2 3 4 5
d e a b f
Bapuant 2
3aanue:
Knwu k 3a0anuam
1.
need of industries.
2.
layer are the most threatening.
3. Yes, there are some.
4. Greenpeace is an International organization.
5.

The main ecological problems are the pollution of air, water, disappearing

animals etc.

37



Paznen 4. Ciopt u 310poBbIii 00pa3 KU3HU
Bapuanrl

3amanue

Knwu k 3a0anuam

1 2 3 4 5 6 7 8 9 10
almost | splash | safety | besides | goggles | racing | ear | prevent | As until
plugs long
as
Bapuant 2
3amanue

Knrou k 3a0anuam

SAIN A D

~

8.

9.
10.

Sport plays an important role in the life of teenagers.

Yes, they do.

The problem of obesity is one of the most pressing in the modern world.
One solution that can be put forward is doing sport.

Physical exercises are also the perfect way for emotional release.

To improve school performance it is essential for school children to balance
mental stimulation and physical activity.

There are drinking alcohol, taking drugs, and so on.

The most popular team sports for teenagers are football, volleyball,
basketball and tennis.

I lead a healthy lifestyle.

A healthy person doesn’t smoke, eats healthy food and prefer doing sports
to watching them.

Paznen S. O0bIuan U TpaauIuu

Bapuantl Bapuanr 2
3amanue 3amanue
Knrou k 3a0anuam Knrou k 3a0anuam

1 2 3 4 5 |16 |7 8
L ]2 |3 |4 |5 D |A |D |B |A |B |A |A
T/T |T |F |F

Pazaen 6. Ilpou3BoacTBO aBTOMOOWIIEH
Bapuantl

3aganue

Knwu k 3a0anuam

IHocemenue 3aBoaa

['pynna mKOIPHUKOB COOMpanach MOCETUTh MAIIMHOCTPOUTENbHBIN 3aBoj. Mx
BCTPETUJ TJIaBHBIA uHeHep. OH pacckazajl UM HECKOJIBKO CIIOB 00 HCTOpUHU
3aBoAa u ero paoore. Ilocie npencraBieHus, CAENaHHOTO INIABHBIM HHIKEHEPOM,
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YYCHUKH ObUIM MPUHATHI 3a 1exu. OHU TOCETWIM Ky3HHMILY, JIUTCHHBIM IIeX |
IJ1aBHBIA cOOpOYHBIN KOHBelep. B 1exax oHu HabGmOmanM 3a MpOIECCOM KOBKH,
auThs U cBapku. IlIkodpbHHMKaM paccka3aid O TEXHUKE Oe30MMacHOCTH, IEJIbIO
KOTOPOW SIBIIIETCA MPEAOTBPAIIEHUE HECUACTHBIX ciaydaeB. Bo3myx B 1exax
OUMIIIAJICA COBPEMEHHBIMU BEHTUJIATOPAMHU U TBLICYIaBIUBAIOIIMMHU arlliapaTaMu.
OKCIepUMEHTalbHbIe PaboThl BENMMCh B OOJBIIMX MaciiTabax, MOCTOSIHHO
BHEIPSUTHCH TPyAOCOeperaronme yCTpoincTna.
Ha 3aBome ObIJI0O HECKOJNBKO CAaHATOPWEB M JOMOB OTAbIXa, TAe pabodnme Moriu
IIPOBOJUTH CBOU OTITYCK.

YuyeHunkr ObLIM OYE€Hb BIEYATIEHBI MOCEIICHHEM 3aBOa W Y3HAJIM MHOIO
WHTEPECHOTO O COBPEMEHHOM OO0OPYIOBAHHH.

Bo3MokHBIE BApHaHTBHI BOMPOCOB K TEKCTY:

1. What plant was a group of pupils going to visit?

2. What did they visit at the plant?

3.What new things did the pupils know about the plant?
4. Where could the workers spend their holidays?

5. The visit to the plant was interesting, wasn’t it?

Bo3MOXHBII BapraHT pacckasa:

I’m a full- time student. I’'m going to be a technician. After graduating from the
vocational school I want to enter the institute. I hope I will pass entrance exams
successfully . I’d like to get work at the mechanic- construction plant.

Bapuanr 2
3annanue
Ku1ro4 Kk 3axanusam
Hama pa6ora Ha 3aBoae

S yaych B Kojutieke. Y MEHs €CTh MpPaKTUKa 1Mo Moeil mpodeccun Ha OOIbIIOM
3aBojie. Most paboTa uHTepecHa U BaxHa. Sl oueHb 0010 cBOO padoty. Paboune
3aBOJia BBINOJHSIOT M MEPEBBINONHSIOT IUIAaH. ABTOMaTH3alus BHEAPEHA BO
MHOTHX Lexax. IIpon3BOACTBO MOCTOSHHO YyBeauW4yuBaerca. Mbl C Jpy3bsiMU
NPUHUMAEM y4acTHe B OOIIECTBEHHOM JKU3HM 3aBOA.

S yuycb u pabortaro Tpu AHS B Henmenro. Sl mM3ydar0 MHOTO mpenmMeToB. Mou
Ar00MMBIEe TpeAMeThl-pu3uka U Juteparypa. Kpome Toro, y Hac ectb MHOTO
CHEIMAIbHBIX MpeaMeToB. S wu3ydaro npodeccuro TOKaps U YHPABISAIO
COBPEMEHHBIM YHMBEPCAJIbHBIM TOKAPHBIM CTaHKOM. Moii Opuraaup-crapslii
pabounii. OH kBanmU(UUUPOBAaHHBIM paOOTHUK. OH BBINOIHIET CaMbIE CIIOKHBIE
OIIEpPALIUH.

[Tocne oxoHYaHUs KOJJIEAXKa s COOMpAIOCh CTaTb MEXAHUKOM M YUHUTbCA B
UHCTUTYTE.
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OTBeTHI Ha BOIIPOCHI:

1.1 study at the college.

2. I have practice on my profession at a big plant.

3.Yes, it is.

4. Yes, I do.

5. I'learn (study) many subjects at the college.

6. I study a trade of a turner.

7. After graduating from the college I'm going to become a mechanic and study at
the institute.

Paznen 7. IIpou3BOACTBO U TeEXHUKA 0€30MACHOCTH
Bapuanr 1

3annanue

Kurou k 3aganusim:

1. This was an accident.

2. All people should keep safety engineering.

3. Do you know safety rules?

4.We work in the training workshop.

5. I ensure safety engineering.

Texnuka 0e3onacHocTH

HecuacTHbie cyyan ¢ JIOMbMH Ha TPOMBINIJICHHBIX MPEANPHUATHSIX HA3BIBAIOTCS
IPOM3BOACTBEHHBIM TpaBMaTU3MOM. OHH BO3HHMKAIOT, KOTrJa paOOTHUKU HE
npuoOpen HEOOXOAWMBIX HABBHIKOB M HE HMEIOT HEOOXOIWMOTO OIbITa B
oOpallleHuu ¢ MHCTpyMEHTaMH U obopynoBaHueM. HecuacTHble ciydan Takke
BBI3BaHbI IPEHEOPEIKEHUEM TTPABIIIAMUA ¥ HOpMaMH O€30MMacHOCTH Ha 3aBOJaX U B
y4eOHBIX MaCTEPCKUX.

[lenpro TEXHUKW OE30MACHOCTH SBISETCS MPEAOTBPAILICHUE HECYACTHBIX
CIy4aeB ¥ CO3JaHHWE TaKUX YCIOBUH Tpyda B MPOMBIIUICHHOCTH, KOTOPBIC
obecrevar MaKCUMAaJIbHYO IPOU3BOIUTEIBHOCTD TPY/A.

[Tpuctymast K HOBBIM OOSI3aHHOCTSIM WJIM BIIEPBBIE MPUCTYyMAsk K paboTe Ha THOOOM
MPOMBIIIVICHHOM ~ TIPEANPUATHH, KaXAbld paOOTHUK 00s3aH  JTOCKOHAJIHHO
O3HAKOMUTH €T0 ¢ MHCTPYKIUSAMU IO TEXHUKE OE30MaCHOCTH.

OTBeTHI Ha BOIIPOCHI:

1. Accidents to people in industrial enterprises are called industrial traumatism
(injury).

2. They occur when workers have not acquired the requisite for skill and lack the
necessary experience in handling tools and equipment.

3.0ne must keep to the safety rules.

4. The purpose of safety engineering is to prevent accidents and to create such
conditions of work in industry which will ensure maximum productivity of labour.
5. When taking up new duties or when first going to work at any industrial
enterprise each worker is obliged to acquaint him thoroughly with, and to master
the safety instructions.
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Bapuanr 2
3amanue
Kurou k 3aganusam:

1 2 3 12 |13

~
()}
(@)
~
o0
\O
[E—
()
[E—
[S—

e ] b m a k 1 f C 1 g h d

IlepeBon cnos.:
MeTtan, TpOMBIILIEHHOCTh, MPOMBINUICHHBINA, a0COIIOTHO, Jaboparopwusi, CTaib,
rUOKUM, MEXaHMYECKUM, pe3yibTaT, aTOM, aTOMHBIA, CTPYKTypa, CHElUaJIbHBIN,
TemIeparypa.

MeTtaibl
3anmanue
Kirou K 3agannsam

~
(\S)
W
BN
D

~
(NS}
o
BN

Paznen 8. CoBpemMeHHBbIII aBTOMOOWIb

KonTpoJsbHoe 3aganune Ne 1
Bapuanr 1

3aganue

Kurou k 3aganusm:

1 2 |3 4

D
N
Co
o

10 |11 |12 |13 |14 |15

o
U

!

~
N
o

oQ
S
=
Q

i i k |m

IlepeBoa cJioB:

Mertamnn, 3JIeMEHT, MPOMBILIIEHHOCTh, CTaJIb, MATEPUAIL, IPOMBILIIJICHHBIH,
AJIEKTPOHHBIN, MATHUTHBIN, TUIL, XUMUYECKUNA, MEXaHUYECKHM, PAKETA,
aBTOMOOMIIb.

‘Iepﬂme MeETaJJIbl U CTAJIHN
UIeprIe MCTAJIJIBI COCTOAT M3 KCJIE3a B COYCTAHHUMU C YIJICPOJOM, KPECMHUCM H
APYTUMH OJICMCHTAMMU. Ho yriacpod ABJEICTCA CaMbIM BaXHBIM OJOJICMCHTOM B
YCPHLBIX CIIJIaBaXx.
qeprle MCTAJJIBI MCIIOJB3YIOTCA B IMPOMBINIJICHHOCTH B JIBYX (bopMax: CTallb U
YYT'YH, KOTOPBIC OTIINYAIOTCS 110 KOJIMYCCTBY COACPIKAHUA YIIICpOoaa.
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CrnaBel COCTOSAT M3 MPOCTOrO MeTalja B COYETAHUU C KAKUM-TO JPYyTUM
a51eMeHTOM. CTalb-3TO JKEJE3UCThIM MaTepHall, UMEIOIINNA HEKOTOPOE COIEPKAHNE
yraepoaa. CylecTByeT J1Ba BHJAA CTajM: YIVIEPOJAUCTasl CTalb M JIETUPOBAaHHBIC
CTaJIH.

VYraepoaucTas craiab OJKHA COJIEPKATh TOJBKO JKEJE30 U yriepoJ] 0e3 Kakoro-
100 APYroro JETUPYIOIIEro HIEMEHTA.

JlernpoBaHHbIE CTAINU-3TO T€, B KOTOPBIX HNOMHMO YIJIEPOJA IPUCYTCTBYET
JETUPYIOIMN 3JIEMEHT. JTH JIETUPYIOIIHE 3JEMEHTHl OKAa3bIBAIOT BIIMSHHUE HA
cBoiictBa crand. OHM MOBBIIAIOT €r0 MPOYHOCTH M TBEPAOCTh, HAIPHUMED,
BBICOKMM IPOLIEHT XpOMa JIE€JAaeT CTallb CTOMKOW K KOPPO3WHU, U MBI HAa3bIBAEM €€
"Hep>KaBeroLas CcTajb' .

[IpoYHOCTH, TIACTUYHOCTh W 00pabaTHIBAEMOCTh SIBIISIIOTCS HanboJiee BaKHBIMU
IPOMBIIIJIEHHBIMU U KOMMEPUYECKHMHU CBOMCTBaMHU cTaiu. Takue CBOMCTBa, Kak
U3HOCOCTOMKOCTb, AJIEKTPONPOBOJHOCTh U MArHUTHBIE CBOMCTBA MMEIOT Ba)KHOE
3HAaYEHUE MPU CHELMAIBHOM HUCIIO0JIb30BAHUN METAIJIOB.

ITo cBOMM XMMHUYECKUM U MEXaHMYECKHUM CBOICTBAM CTAJIM MOTYT IPUMEHSTHCS B
pa3IMYHBIX OTpaciAX MPOMBILUIEHHOCTH, HalpuMep, B MAIIMHOCTPOEHUH,
PaKeTOCTPOCHUH, aBTOMOOMIIBHOM MPOMBIIIIIEHHOCTH U JIp.

2 3 5
c d a e b
Bapuanr 2
3amanue

Knrwu k 3a0anuam

1 2 3 4 5 6 7

o0
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h e 1 ] k C b a g d n 1 m

Ilepeeoo cnoes:
MeTasll, MeTaJUIMYECKHM, dJIEKTPUIECTBO, MIEKTPUIECKUH, (GaKT, Tpymma, pakeTa,
KOHCTPYKIIHS, JIEMEHT, MaTepua, KOPPO3Hsi, XHMUYECKUIA,
AIIEKTPOMEXAHUYECKUM, TPOJIYKT, CTallb, OPraHUYECKUiA, Oapbep,
MPOMBIIIIEHHOCTb.

MeTtasiibl 1 HeMeTaNIbI
Cy1liecTBYIOT HEKOTOPBIE pa3Inyuus MEX1y METaUlaMi U HeMeTalllaMu. MeTtasuibl
OTJIMYAIOTCS OT HEMETAJJIOB CBOEW BBICOKOM MPOBOAMMOCTBIO I TeIja u
AIEKTPUUECTBA, METAJUIMYECKUM OJIECKOM M COMPOTUBJICHUEM JIIEKTPUUECKOMY
TOKy. X mpuMeHEHHE B TMPOMBINIJICHHOCTH OOBICHICTCS HE TOJHKO JTUMH
CBOWMCTBAMM, HO U TEM, UYTO MX CBOWCTBA, TAKHWE KAK MPOYHOCTH U TBEPAOCTb,
MOTYT OBITh 3HAYUTENBHO YIYYIICHBI TYTEM JIETUPOBAHUS WX JIPYTUMU
METaJIJIAMH.
CymiecTByeT HECKOJIBKO BaKHBIX TPYMII METAUIOB W cruiaBoB. OOmme MeTaibl
KaK yTIOT, MEJIb, ITMHK, etC. BBITYCKAIOTCS B OONBINX KOJTMYECTBAX.
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K Tak Ha3piBaeMbIM JparolieHHbIM MeTajulaM OTHOCSTCA cepedpo, 30JI0TO,
nnatuHa 1M nawiaauil. Jlerkue Mmetamibl-AntoMuHuid, bepunnuii m tutan. OHM
BA)XHBI B aBUACTPOCHUU U PAKETOCTPOEHHUH.

MHorue »1eMeHThI KIacCU(PUIUPYIOTCS KaK MOJTyMETaJUIbl (BUCMYT, HalpuMmep),
MOTOMY YTO OHHU HMMEIOT ropaso 0oJiee HU3KYI MPOBOJUMOCTb, YeM OOBIYHBIC
METaJlIbL.

Hemeramnsr (yrimepon, KpeMHHI, cepa) B TBEPJAOM COCTOSSHHH OOBIYHO SIBIISIOTCS
XPYIIKUMH MaTeprajiaMi 0€3 METAUTHYECKOTO OJiecka W OOBIYHO SIBIISIFOTCS
IUIOXUMH TPOBOJAHUKAMHU DJIEKTpU4YecTBAa. HemeTamsl TposBiISIOT OoJbiee
pa3Ho00pa3ne XUMUIECKUX CBONCTB, YeM OOBIYHBIEC METAJLIHI.

Metamibsl MOTYT MOABEPTraThCS KOPPO3UU, U3MEHSS IPU 3TOM CBOM XUMHUYECKUE U
AIEKTPOMEXAHUYECKHE CBOMCTBA. JJIsl 3aIIUTHI METAJUIOB OT KOPPO3UU U3JECTUS U3
METAJIJIOB W CTaJIM TIOKPBHIBAIOTCS HEKOTOPHIMU TUICHKAMH (TIOKPBITHUSIMH).
Opranudeckue MOKPHITHS 3alUIIA0T METaUlbl U CTalb OT KOPPO3UH, 00pasys
KOPPO3MOHHO-CTOMKHUIM Oapbep MEXIy METAIOM WM CTaldbl0o U KOPPO3HMOHHOMU
cpenou.

—
N
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N~
()}

KontpoabHoe 3ananue Ne 2
Bapuanr 1

3annanue

Kniou k 3a0anuam:

1 2 3 4 5 6 7 8

O
[u——
S
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h g 1 k a j 1 d e C b

Ilepeeoo cnoes:
YHuBepcanbHbIW, HWIHHAP, TUII, MACCA, MACCUBHBIN, KOHCTPYKIIHUS,
TUAPABINYECKHUA, KOHTPOJIb, (DYHKIIHS, IITUH/ETH, MOTOD

['mapaBaryeCcKui U3MEITBUYUTEID

Ota yHuBepcallbHas IUIM(OBaJIbHAS MalllMHA MpeAHa3HauYeHa s HuM(oBaHus
LHUIMHAPUYECKUX OTBEPCTUM U I'paHel 3aroToBOK. OH IIMPOKO MCIOJB30BaH I
IIPONYKIUU CEPUU B PA3JIMUYHBIX TUIIAX 3aBOJIOB MAIIMHOCTPOEHHS.

Mamyssl 3TOTO TUIIA HMMEKOT OYEHb MACCHBHYK) KOHCTPYKLIMIO, HO OHH
CKOHCTPYHUPOBaHbI TaKUM 00pa3oM, YTO KMH MOKHO YIIPABJIATh TaK )K€ JIETKO, KaK
Y MAalllMHAMU MEHBIINX Pa3MepPOB.
OHM rUOPABIMYECKH  YOPABISIIOTCA M YOPABJSIIOTCA  OJHUM — PbIYaroM,
pacmoJIOKEHHbIM Ha MEpeIHeld YacTH MAalluHbl. OJTOT OJWHOYHBIA pblYar
KOHTPOJIUPYET Bce (YHKIMU MAIIUHBI BKJIIOYAs BCE JBIKEHUS CKOJIBKEHUS
KoJIeca, IIONEPEYHOi oAaun, HAUMHATh U OCTaHABJIMBATH PA0OTY IIMUHEIS.
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[IInuHaens Koneca ynpasisieTcsl KIMHOBBIM PEMHEM OT MOTOpPA PACHOJIOAKEHHOTO
Ha KPOHILUTEWHE Ha CKOJIbKEHUM KoJieca. [lonepeunas momada sl CKOJIBKEHUS
KOJIECa YIPaBISAETCA TUAPABINYECKUM OJIOKOM.

l'omoBka koieca 3a)kara Ha BepxHeEW MOBEpxXHOCTH Tadmuibl. [Ipu Hactpoiike
UM (OBATBHOTO CTaHKA TOJOBKa KoJieca MOXKET PEryJIHpOBATHCS B MPOJOJIBHOM
HANpaBJICHUU B COOTBETCTBUU C JJIMHOW 3arOTOBKHU.

1 2 |3 |4
b d |a |c
Bapuanr 2
3aoanue
Kiarou k 3aganusMm:
1 2 3 4 5 6 7 8 9 10 11
] f k b a h t d 1 g C

Ilepesoo cnos:

Mexanuueckuii, mexanusm, CReyuaIucm, NPOMbIULIEHHOCMb, (ha3a, MEexXHON02Us,
npoyecc, 1abopamopus, mecm, akm, asmomooOUIb, UHICEHED, MemOO,
NPUHYURUATILHDLL, KOPPO3USL, MU, Mamepuai, KOM@BOPMHbLIL.

ABTOMOOMJILHOE IPOU3BOJCTBO
1.CnenuanucTbl aBTOMOOMIILHOM MPOMBIIIIEHHOCTH 3aHUMAIOTCS
MPOCKTUPOBAHUEM U U3TOTOBJICHUEM aBTOMOOWIICH, TO3TOMY OHU JIOJKHBI 3HATh,
YTO MPOU3BOACTBO ABTOMOOMIISI BKIIFOUAET B C€0s1 CIEAYIOIIUE ITAIIbI:
[IpoexTnpoBanue,
Pa3paboTka TeXHOIOTHH MPON3BOICTBEHHBIX MPOIIECCOB,
JlaGopaTopHble MPOBEPKH,
JIop0KHOE UCTIBITAHUE.
MaccoBoe npou3BOACTBO (M3rOTOBIEHUE).
2.3a4eM HYKHO 3HATh BCE 3TU (aKThI?
BaxxHo 3HaTh MX, TaK Kak MpexXJIe 4eM aBTOMOOWIb (JErKOBOM WM TPY30BOiN)
OyJeT 3alyllleH B CEepUHHOE MPOU3BOJCTBO, OH JOHKEH OBbITh MPaBUIBHO
CIIPOEKTUPOBAH U COOTBETCTBOBATH COBPEMEHHBIM TPEOOBAHUSIM.
3.KakoBsI 311 TpeOOBaHMS?
ABTOMOOWIb JIOJDKEH 00J1alaTh BBICOKOM MPOU3BOAMTENIBHOCTBIO, JIIUTEIbHBIM
CPOKOM CIIykObl, O€30MaCHOCTbIO BOXJIECHHS, MPOCTOTOM OOCTY>KUBaHUS U
NPUSATHBIM BHEIIIHUM BUIOM.
Jlnst momydeHusT BCEX OTUX KadeCTB HHXKEHEpaM HEoO0XOauMO pa3paboTarth
COBPEMEHHBIE METOJIbI MPOCKTUPOBAHMS ABTOMOOWIICH, MCIOJL3Yysl HOBBIC BHJIBI
CTOMKUX K KOPPO3WHU JIETKUX MaTepuajioB. Takke BaKHO 3HATh HWH(POPMATHKY,
MOTOMY 4YTO OHA TpEIHA3HA4Y€HA [JI COKPAIEHUS BPEMEHH  MEXIY
MPOCKTUPOBAHUEM U TMPOU3BOJACTBOM. KoMmbIOTEpHI TpenIararoT OBICTpHIE U
OTNITHUMAaJTbHBIC PEIICHUS TPOOIIEM.
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Ho nepen 3amyckom aBTOMOOWIS B CEPUMHOE NMPOU3BOACTBO BCE €r0 Y3Jbl U
MEXAaHHU3MBbl TIOJBEPraloTCsi HUCIBITAHUSM, CHadajla B 3aBOJCKON J1abopaTopuu,
3aTeéM aBTOMOOWJIb IPOXOJIUT JKECTKMH KOHTPOJb KadyecTBa IPHU JOPOKHBIX
ucnblTaHusAX. ToOnbKO TOCIE ATOr0 aBTOMOOWJIL BBOJUTCS B CEpHUiIHOE
IPOM3BOJACTBO. 3adeM HyXHbl 3TH TecThl? Kakue kadectBa TpeOyroTcs OT
aBTomMoOmsi? COBpEMEHHBI aBTOMOOWIIb JOJKEH OBITH OBICTPHIM B Pa3roHE,
UMETh IJIaBHOE CILIETJICHHE, OECITyMHYI0 KOpOOKY mepeaad, HaJeKHbIE TOpMO3a U
pyJeBO€ yIpaBlIeHUE, a TaKkKe MPUATHBIN BHEIIHUN BUJ. Takxke OHa JOHKHA OBITH
yInoOHOM M UMETh BCe y100CTRA.
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Ipunooicenue 2. Knrouu k KoHmpoabHo-0yeHouHbIM cpedcmeam O
NPOMEIICYMOYHOU ammecmayuu

Bapuant 1
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2. IlepeBon coB:
ABTOMOOMIIB, KapKac. CUOMETp, AIIEKTPUUYECKU, cCUCTeMa, UIWIUHIP, KapAaH,
KOHTPOJIb, TUAPABINYECKUIL, MTe€Aallb, BCIOMOTaTEIbHBIE YCTPONUCTBA,
muddepenmar.
3. KOMIIOHEHTbBI ABTOMOBWJIA
B ocHOBHOM, aBTOMOOWJIb COCTOMT U3 TpPEX dYacTel: CHJIOBOW YCTAaHOBKH, WJIH
naBurarens, maccu U Ky3oBa. K HHUM MOryT ObITh J00aBI€HBI aKCECCyaphl:
oOorpeBarensb, Gpapsl, paano, CIUIOMETpP U APYTUe yCTPOUCTRA.
CunoBasi yCTaHOBKa WJIM JIBUTaTejb SBISETCS HCTOYHUKOM BSHEPIUH, KOTOpas
3acTaBIsSIET Kojieca Bpallarbcsi U aBTOMOOWIbL ABUrarbcs. OHa BKIIIOYAET B ceds
AIIEKTPUYECKUE,  TOIUIMBHBIE,  OXJIAXKJAIOIIME U  CMa304YHbIE  CHCTEMBI.
BONbIIMHCTBO aBTOMOOWJIBHBIX JBUTATeledl HMEIOT IIeCTh WJIM BOCEMb
UUIUHAPOB.
[ITaccu cocTouT U3 CUIIOBOM Mepeaur, pambl ¢ OCsIMH, Kojec u npyxuH. [laccu
BKJIIOUAET B c€0s1 TOPMO3a U PYJIEBYIO CUCTEMY.
CunoBasi mepenaya HECET MOIIHOCTh OT JBHrareiisi K KojiecaM aBTOMOOWJIS H
COIEPXKUT CLEIUIEHHEe, KOpOOKy Tepenad, KapJAaHHBIA Ball WM KapJaHHBIM Bal,
nudepeHnran 1 KOHEUYHYIO Mepeiady.
MydTta cuemieHus TPEACTaBIsSeT Cco00W  (QPUKIMOHHOE  YCTPOMCTBO,
coequHsIoNEe (MM pa3beAUHAIONIEE) KOJICHYAThIi BaJl JBUTATENS C HIECTEPHIMU
B KopoOke mepenad. OH UCIONB3yeTCsa JUIsl OCBOOOXKIEHUSI KOPOOKH Mepenad oT
JIBUTATEJIS U YIPABIIAETCS Mealbl0 CLETUICHUS.
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TopMo3a SIBJIAIOTCS Ba)KHBIMH MeXaHuU3MaMu aBToMoOwmisa. OHH HCITIOJIb3YIOTCA
1 3aMCIJICHUA HWJIM OCTAaHOBKH aBTOMOOMIIS. BoabmmHCTBO HCIIOJB3YCMBIX
CErogHse TOPMO3HBIX CHCTEM SABIIAIOTCA THAPABINYCCKHUMHU. Onu YIPaBIIAIOTCA
neaajabld TOPMO3a. KOFI[& BOAUTCI/Ib HAXHUMACT Ha I[I€AdJb TOPMO3a, OHH
IIPUMCHAIOTCA 1 aBTOMOOMJIb OCTaHABIIMBACTCS.

4. 5.
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Bapuanr 2

Kurou k 3aganusim:
Crankn

Mertamt npoXoauT psJl MPOLIECCOB, MPeXkae YeM OH GOpMHUpYETCs B TpeOyeMyto
dopMy: nuThe, MpOKaTKa, CBapKa, NpOKajblBaHHWE, 0Ope3ka, MpsacHUe, Tuoka,
BOJIOUEHHUE U JIp.
CraHKy, BBINOJHAIONIAE BCE 3TU BHUABI pabOT, Ha3bIBalOTCA CTaHKamMu. CambIM
pacrpoCTpaHEHHBIM  CTAHKOM, BCTPEYAIOUIMMCS MPAKTUYECKH B  JIHOOOMU
MacCTEepCKOM, SIBISETCS TOKapHbIH cTaHOK. OCHOBHBIMH €r0 YacTsIMH SIBISIOTCS:
0alka, maTpoH, 3a1Hasa 6abka, KapeTka.
ABTOMAaTUYECKHI TOKApHBIA CTAHOK-3TO COBEPIICHCTBO OOBIYHOIO TOKAPHOIO
ctaHka. Ero HMHCTpYMEHTBI MEHSIOTCS aBTOMaTWyecku. Pabouuii, ymeromui
M0JIb30BATHCS TOKAPHBIM CTAHKOM, Ha3bIBAETCSI TOKAPEM.
EcTh MHOTO ApYyrux CTaHKOB, KOTOpblE pabOTalOT Ha IJIOCKUX MOBEPXHOCTSIX,
Hampumep, (¢Gpe3epHble CTAaHKH, IUJIAHUPOBOYHBIE U (POPMOBOYHBIE CTaHKHU.
KpyroBble oTBepcTHsl CBEPJIAT CBEPJsi MAIIMHOW WM MPOOYpPEHbI CBEPIMIbHBIM
CTAaHKOM WJIM CBEPJIMJIbHBIM CTaHKOM. Pe3b0odpe3epHble CTaHKU MPUMEHSIIOTCS B
MIPOM3BOJICTBE PAa3JIMUYHBIX 3JEMEHTOB CTAHKOB. 3yOOpE3HBIE CTAHKH BKIIIOUAIOT
3ybodpesepHble cTaHKUA. Bce 3T CTaHKM HCTONB3YIOT PEXYIIUNA UHCTPYMEHT U3
OBICTPOPEKYIIEH CTaIIH.

Peiikn

CymecTByeT TpuW THNA TOKAPHBIX CTAHKOB, TMPOW3BOJUMBIX HAITUMU
CTAaHKOCTPOUTEIBHBIMU 3aBOJAMU: TsDKENbIE, CPEIHHUE M JIeTKWe THUMbl. Tum
TOKapHOT'O CTaHKa 3aBUCUT OT pa3Mepa AHUaMeTpa 3aroTOBOK.
Haunbonee ynooHbIM U 3h()EKTUBHBIM CTAaHKOM SIBJIAETCS KOMOWHHUPOBAHHBIN
TOKAPHBIA CTAaHOK [IJIi TOKApHOM, (pe3epHOM, CBEPIUSIbHOW, NLIU(OBATHHOM,
JOJIOEKHOM WM MHCTPYMEHTaJbHOM 3aTOuku. Ero MOXXHO HCHOJIb30BaTh Kak B
CTallMOHAPHBIX, TAK U B MEPEJIBUKHBIX PEMOHTHBIX MAaCTEPCKUX, HA CyAaxX U Jp.

CBepJuIbHBIA CTAHOK

BonpmmHCTBO CBEPIUIILHBIX CTAaHKOB OCHAIIECHEI MEXaHU3MaMU,
MO3BOJIAIOIIMMHA HE TOJIbKO CBEPJIUTh, 3€HKOBATh M Pa3BEPThIBaTh, HO U pPe3aTh
BHYTPEHHHE PE3bObI C MOMOIILI0 METYHKOB. CTPOSTCSA KaK yHUBEPCAIbHBIC, TaK U
criellMaJibHbIE CBEpJia TUNA "pajiualibHbie’.
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OTBeTHI:

1. Metal undergoes a number of processes before it is formed into the required
shape: casting, rolling, welding, piercing, trimming, spinning, bending, drawing,
etc.

2. The machines which perform all these kinds of works are called machine-tools.
3. The most common machine-tool found in almost any workshop is the lathe.

4. The main parts of it are: the headstock, the chuck, the tailstock, the carriage.

5. The automatic lathe is a perfection of the ordinary lathe.

6. A worker skilled in the use of a lathe is called a turner.

7. There are many other machine-tools that work on plane surfaces, for example,
milling machines, planning and shaping machines.

8. Circular holes are drilled by a drilling machine or bored by a boring machine or
a boring mill.

9. Thread milling machines are used in the production of different machine
elements.

10. There are three types of lathes produced by our machine-tool manufacturing
works: heavy, medium and light types.

11. A most convenient and efficient machine is the model combination lathe for
turning, milling, drilling, grinding, slotting, and tool-sharpening jobs.

12. The most drilling machines are equipped with mechanisms, permitting not only
drilling, countersinking and reaming, but also cutting female threads with the help
of taps.

Bapuanr 3

Kuarou k 3aganuam:
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2.IlepeBon CiOB:
[Mununap, aBTOMOOWMIIb, OTPAaHUYEHUE, LIEHTP, LUK ( €XaTh Ha BEJIOCUIIEE),
KOMIIpEeCCHsl, Ia3.

3. JIBuraresnb

JlBurarenp SIBISETCS UCTOUYHUKOM JHEPIHM, KOTOpas 3acTaBiiieT aBTOMOOMWIIb
nBuratbes. Ero oObIYHO HA3bIBAIOT JIBUTaTEJIEM BHYTPEHHETO CrOpaHMsl, IOTOMY
4YTO OCH3MH CXKUTAETCA B €ro LHMIMHApAX WIM Kamepax cropaHus. boiblIMHCTBO
aBTOMOOWJIBHBIX JABUTaTEIeH NMEIOT LIECTh UM BOCEMb LIMJIMHPOB.
Pabouuii MKJI YETBIPEXTAKTHOTO ABUIATENs, KOTOPBIM MPOUCXOAUT B LMJIMHIPE
JBUTATENsl, MOKHO Ppa3fe/InTh Ha 4YeThlpe TakTa. BepxHuil mpenen ABHKEHUSA
MOPIIHS HA3bIBACTCS BEPXHEW MEPTBOM TOoukoW. HwkHUN mnpenen ABHKEHUS
IOPILHS HA3bIBAETCA HWKHEH MEPTBOW TOYKOW. XOI-3TO JABMKEHHE MNOPIIHSA OT
BEpXHEH MEPTBOW TOYKM K HWKHEW MEPTBOM TOYKE WM OT HUKHEH MEpPTBOU
TOYKHA K BEPXHEM MEPTBOM TOYKE. [[pyrmmu cioBamMu, NOPIICHb 3aBEPIIAECT XOJ
KQKIIbIM pa3, KOrJa OH MEHSET HalPaBJIEHNUE CBOETO ABHKEHHS.
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Tam, rae Bech UK COOBITHI B HIMJIMHAPE TPpeOyeT YeThIpeX TaKTOB (JBa 000poTa
KOJIEHYAaTOr0 BaJia), IBUTATeNlb HA3bIBAIOT YETHIPEXTAKTHBIM I[UKIIOM JABUTATEIIS.
UeTsipe TakTa: BIYCK, CATUE, MOIIHOCTh U BBIXJIOIIL.

Bbun Tak)ke M3rOTOBJIEHBI JIBYXTaKTHbIE JABUTATENId, U B TAaKUX JIBUTaTEISX BECh
IUKJI COOBITUH 3aBEpIIAETCS 3a JIBA TAKTa UJIM OJIUH 00OPOT KOJIEHYATOro BaJa.

Ha takte Bmycka BIyCKHOH KilanmaH OTKpbIBaeTcs. CMech BO3yXa U UCIIAPEHHOTO
OeH3MHa MoJaeTcs B MWIMHAP Yepe3 BIYCKHOM kianaH. Ha Takre cxxaTusi BXOIHOU
KJIamaH 3aKpbIT TaK, 4TO CMEChb MOXXHO 00kaTh. Ha TakTe cumpl o0a KiamaHa
3aKpBITHI JUISl TOTO YTOOBI MOAHSATH AaBJIEHUE BO BpeMsi cropanus cmecu. Ha takre
BBIMTYCKAa BBIITYCKHOW KJIallaH OTKPBIBAETCS, YTOOBI HCUEPIATh

OCTaTOYHBIU Ira3s.

4. 5.
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JIMCT U3MEHEHU U JOMOJHEHUN K KOMILIEKTY KOHTPOJIbHO-OLEHOYHbIX
CpelacTB

HononHenus u usmeHeHuss k komiuiekty KOC Ha y4eOHBI TOA TIO

NUCLUTIIINHE

B xommiexkt KOC BHeCeHBI ceayIole n3MEHEHUS

Jononnenus u usMmeHeHuss B komiuiekte KOC o6cyxnenst Ha 3acemanuu [11K

« » 20 r. (mpotokoi Ne ).

[Ipeacenarens TILK / /
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